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0 2h< ≤  1 0 0 

2 4h< ≤  3 1 3 

4 6h< ≤  5 4 20 

6 8h< ≤  7 8 56 

8 10h< ≤  9 9 81 

10 12h< ≤  11 2 22 

12 14h< ≤  13 1 13 

Total  25 195 

 

Estimated mean
195
25

=  

                           = 7.8 
 
 
The time is given in a range and we are not able to determine the exact 
amount of time spent studying for each student.  
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(c) 

Construct triangle: 
∠CAB = 98° 
BC = 9.8 cm (with construction arc) 
 
Construct angle bisector for ∠CAB 
 
Construct arc 2 cm from A 
Shade correct region 
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